10H EHBIA BZ T A

BIREEfF : 20234E10A6 A (&) NRo—J v b U — B

BRI . AT 4 BMAS: TAA (BEE:6TA - LM TA)

HDCP_LFR : 34 HH90 % mL

Z—Z:  OUT IN 1/ 2

FNENLIRE : = F o T H— R (Fy MR - Bv > bRy FlRI = 20234F10A8H (H)
JIE BN 4 0UT IN GROSS HDCP NET S {5 %
1 {7 |SFIL BT 46 46 92 | 26.0 | 66.0 5
2 A | s e 40 47 87 | 21.0 | 66.0 1
3 AL |7 Rl 47 46 93 | 26.0 | 67.0 7
4 NL | BRI E— 44 46 90 | 23.0 | 67.0 2
5 AL | JE R 49 53 102 | 34.0 | 68.0 33
6 fi7 |4y %% 43 48 91 | 22.0 | 69.0 3
7AL | RE B 50 49 99 | 29.0 | 70.0 26
8 i | KH EF 48 48 96 | 26.0 | 70.0 17
9 A7 | HEH FUAL 51 53 104 | 34.0 | 70.0 36
10 fif |[FaAR M2 52 48 100 | 29.0 | 71.0 30
11 AL | B/ ' 49 45 94 | 23.0 | 71.0 12
12 i | &5 ik 47 45 92 | 21.0 | 71.0 5
13 {7 |98 20 47 46 93 | 22.0 | 71.0 7
14 {7 | AITH #17 47 46 93 | 22.0 | 71.0 7
15 AL | RAS BN 47 46 93 | 22.0 | 71.0 7
16 fif | KA R— 46 47 93 | 22.0 | 71.0 7
17 it | KB #8 51 47 98 | 26.0 | 72.0 22
18 A7 | J/ B J\E 1 49 47 96 | 24.0 | 72.0 17
19 A7 | Y & EAR 46 49 95 | 23.0 | 72.0 14
20 A7 | B S 44 47 91 | 19.0 | 72.0 3
21 | R TR 54 48 102 | 29.0 | 73.0 33
22 fL | B BE 50 46 96 | 23.0 | 73.0 17
23 NL |fHH = 46 50 96 | 22.0 | 74.0 17
24 L |EF gL 45 49 94 | 20.0 | 74.0 12
25 i |k B 52 56 108 | 34.0 | 74.0 47
26 {7 | FH & 50 45 95 | 20.0 | 75.0 14
27 AL | &) 5T 49 49 98 | 23.0 | 75.0 22
28 L | MRl A 52 54 106 | 31.0 | 75.0 41
29 v | WG 47 48 95 19.0 | 76.0 14
30 {7 | [ BA 48 50 98 | 22.0 | 76.0 22
31 fir | ARG B 53 57 110 | 34.0 | 76.0 52
32 L | AT ¥ 45 54 99 | 23.0 | 76.0 26
33 fr | HE % 50 49 99 | 22.0 | 77.0 26
34 N | WE gL R 56 55 111 | 34.0 | 77.0 55
35 L |#& Efn 48 48 96 19.0 | 77.0 17
36 i |18 B/ 50 54 104 | 27.0 | 77.0 36
37 AL | fEH JTiEZ 56 45 101 | 23.0 | 78.0 31
38 L | KA iz 57 46 103 | 25.0 | 78.0 35
39 i | x¥F EIR 50 49 99 | 21.0 | 78.0 26
40 i |BEZS BUZ 50 51 101 | 23.0 | 78.0 31




10H EHBIA BZ T A

BIREEfF : 20234E10A6 A (&) NRo—J v b U — B
BRI . AT 4 BMAS: TAA (BEE:6TA - LM TA)
HDCP_LFR : 34 HH90 % mL
Z—Z:  OUT IN 27/ 2
FIEALRGE : = v F o T H— KRRy MNR) - Ao bRy FRI : 20234£10A8H (H)

JIE BN 4 0UT IN GROSS HDCP NET i i %

41 A7 |4 K& 53 56 109 | 31.0 | 78.0 50

42 7 |'®F AKF 47 57 104 | 26.0 | 78.0 36

43 7 | AT LM 58 49 107 | 28.0 | 79.0 43

44 AL |KH EEA 58 55 113 | 34.0 | 79.0 58

45 fif | KB 1 53 52 105 | 26.0 | 79.0 40

46 L | AR SEAE 45 53 98 | 19.0 | 79.0 22

AT AL | H%B BERE 57 50 107 | 27.0 | 80.0 43

48 fL | R EF FE = 60 54 114 | 34.0 | 80.0 60

49 {7 |'=9 B 56 56 112 | 32.0 | 80.0 56

50 fi | =4 & 55 58 113 | 33.0 | 80.0 58

51 fif | E&H 51 57 108 | 28.0 | 80.0 47

52 L |mH —3% 58 46 104 | 23.0 | 81.0 36

53 fir | KE & 54 58 112 | 31.0 | 81.0 56

54 fir | AL 1E— 50 59 109 | 28.0 | 81.0 50

55 fif |HEH & 52 56 108 | 26.0 | 82.0 47

56 i | A FH FIHY 62 52 114 | 31.0 | 83.0 60

57 L | BT I 59 56 115 | 32.0 | 83.0 63

58 AL | FH)I M 58 56 114 | 31.0 | 83.0 60

59 {if |51 el 53 53 106 | 23.0 | 83.0 41

60 A7 | =1E Bkln 57 60 117 | 34.0 | 83.0 66

61 {7 | A = 55 55 110 | 26.0 | 84.0 52

62 {r | K F B 53 54 107 | 23.0 | 84.0 43

63 i [{AIAS IE 59 56 115 | 29.0 | 86.0 63

64 fr | = H &Ik 56 54 110 | 24.0 | 86.0 52

65 7 | AN B 52 55 107 | 21.0 | 86.0 43

66 7 | /NIEF {8 56 64 120 | 34.0 | 86.0 67

67 AL | ILAR % 59 62 121 34.0 | 87.0 68

68 {i7 |JEH #EF 59 57 116 | 26.0 | 90.0 65

69 AL | FEH AR =B 56 68 124 | 34.0 | 90.0 70

70 AL | PEAT JTAd 70 57 127 | 34.0 | 93.0 71

71 fr | fEEF A 70 57 127 | 34.0 | 93.0 71

72 AL AT Y 61 60 121 | 27.0 | 94.0 68

JI T 5 52 51 103 | 26.0 | 77.0
JE — 57 54 111 | 34.0 | 77.0




